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TEST – 9TH CIVICS (UNIT 1, 2, 4) GEOGRAPHY (UNIT 5, 6, 8) 

(BASED ON SCHOOL BOOK) 
 

1. Switzerland is an example of 
a. Aristocracy   b. Theocracy 
c. Direct Democracy  d. Indirect Democracy 
Rtpl;rh;yhe;J _________ f;F xU vLj;Jf;fhl;lhFk; 
a. cah;Fbahl;rp   b. kjFUkhh;fspd; Ml;rp 
c. Neub kf;fshl;rp  d. kiwKf kf;fshl;rp 
 

2. Consider the following Statements and choose correct option 
I. In India, Prime Minister is Head of State. 
II. Government refers to executive functions of state. 
a. I only is true   b. II only is true 
c. Both I and II are true  d. None is correct 
gpd;tUk; $w;Wfspy; rhpahdijj; Njh;e;njL. 
I. ,e;jpahtpy;> gpujkNu murpd; jiytuhthh; 
II. murhq;fk; vd;gJ murpd; nray; Jiwg; gzpfis cs;slf;fpajhFk;  
a. I kl;Lk; rhp   b. II kl;Lk; rhp  
c. I kw;Wk; II rhp   d. vJTkpy;iy  

 
3. Consider the following statements. 

1. VVPAT was made indispensable by Supreme Court Judgement in 
Subramanya Swamy vs Election Commission of India case. 

2. VVPAT was introduced all over country in sixteenth Lok Sabha 
elections (2014) 

Correct statements are 
a. One only    b. Two only 
c. Both One and Two  d. None of the above 
gpd;tUk; $w;Wfisf; fUJf: 
1. Rg;gpukzpa Rthkp vjph; ,e;jpa Njh;jy; Miza tof;fpy; VVPAT 

MdJ jtph;f;f Kbahj mk;rkhf cr;rePjpkd;w jPh;g;gpy; cWjp 
nra;ag;gl;Ls;sJ.  

2. 16 tJ kf;fsitj; Njh;jy;fs; (2014) y; VVPAT MdJ ,e;jpah 
KOikf;Fk; mwpKfg;gLj;jg;gl;lJ.  

rhpahd $w;Wfshtd  
a. 1 kl;Lk;    b. 2 kl;Lk;  
c. 1 kw;Wk; 2 kl;Lk;  d. Nkw;fz;l vJTkpy;iy  
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4. Consider the following statements. 

1. Election commission can register and deregister a political party. 
2. Party recognised as a state party in four states is recognised as a 

national Party. 
Correct statements are 
a. One only      b. Two only 
c. Both One and Two    d. None of the above 
gpd;tUk; $w;Wfisf; fUJf.  
1. xU murpay; fl;rpahdJ Njh;jy; Mizaj;jhy; gjpT (m) ePf;fk; 

nra;ag;glyhk;. 
2. 4 khepyq;fspy; khepyf; fl;rpahf mq;fPfhuk; ngw;Ws;s xU fl;rpahdJ 

Njrpaf; fl;rpahf mq;fPfhpf;fg;gLk; 
a. 1 kl;Lk;  b. 2 kl;Lk;  c. ,uz;Lk;  d. VJTkpy;iy  

 
5. Consider following statement 

Assertion (A): Leader of opposition plays a significant role to play in 
Indian Parliamentary System. 
Reason (R): He is Chairman of Public Accounts Committee, selects  
Chairman of Central Vigilance Commission, Information Commission. 
a. (A) alone is correct and (R) is incorrect. 
b. (A) and (R) are correct and (R) is correct explanation of (A). 
c. (A) and (R) are in correct 
d. (A) and (R) are correct but (R) is not correct explanation. 
gpd;tUk; $w;Wfisf; fUJf: 
$w;W (A) : ,e;jpag; ghuhSkd;w Kiwapy; vjph;f;fl;rp jiyth;  
gjtpahdJ Kf;fpag;gq;F tfpf;fpwJ. 
fhuzk; (R) : ,th; nghJf; fzf;Ff; FOtpd; jiytuhfTk; kj;jpa tpopg;G 
Mizak; kw;Wk; kj;jpa jfty; Mizaj;jpd; jiyth;fisj; Njh;T 
nra;gtuhfTk; cs;shh;. 
a. (A) kl;Lk; rhp> (R) jtW  
b. (A) kw;Wk; (R) rhp kw;Wk; (R) vd;gJ (A) d; rhpahd tpsf;fkhFk;  
c. (A) kw;Wk; (R) jtW  
d. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ rhpahd tpsf;fky;y  

 
6. Choose correct statements 

I. First general elections to Loksabha was held between 1950 and 1951. 
II. 26th January is celebrated as Both voters day and Republic day in 

country. 
III. India holds indirect elections also. 
a. I and II are correct   b. II and III are correct 
c. II only      d. III only 
rhpahd $w;Wfis Njh;T nra;f. 
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I. 1950 kw;Wk; 1951 f;F ,ilapy; kf;fsitf;F KjyhtJ nghJj; 
Njh;jy;fs; eilngw;wd.  

II. ehl;by; [dthp 26 MdJ FbauR jpdk; kw;Wk; thf;fhsh; jpdkhff; 
nfhz;lhlg;gLfpwJ.  

III. ,e;jpah kiwKfj; Njh;jy;fisAk; elj;JfpwJ.  
a. I kw;Wk; II rhpahdit   b. II kw;Wk; III rhpahdit  
c. II kl;Lk;     d. III kl;Lk;  

 
7. Which of the following are characteristics of Indian democracy? 

I. Universal Adult Franchise. 
II. People Exercise Decision making power directly. 
III. Absence of Discrimination on certain grounds. 
IV. Largest democratic country in the world 
a. I only     b. I, III, IV only 
c. II and III only    d. All the above 
gpd;tUtdtw;Ws; ,e;jpa [dehafj;jpd; mk;rq;fs; vit?  
I. taJ te;Njhh; thf;Fhpik  
II. kf;fs; Neubahf KbntLf;Fk; mjpfhuj;jpy; cs;sdh; 
III. rpy Fwpg;gpl;l tptfhuq;fspy; ghFghbd;ik epyTfpwJ. 
IV. cyfpNyNa kpfg;nghpa kf;fshl;rp ehL 
a. I kl;Lk;     b. I,III, IV kl;Lk;  
c. II kw;Wk; III kl;Lk;    d. midj;Jk;  

 
8. Consider the following statements and choose correct ones. 

I. Democracy is derived from Greek words DEMOS meaning people 
and CRATIA meaning power. 

II. Democracy means head of state is elected. 
III. Republic was coined in Rome, From Latin word ‘res publica‘ 

meaning public matter. 
IV. Republic denotes doctrine of popular sovereignty where people 

posses decision making power. 
a. I and II only   b. II and IV only 
c. I and III only   d. III and IV only 
 
 
 
gpd;tUk; $w;Wfspy; rhpahdijj; Njh;e;njL: 
I. DEMOS – kf;fs; kw;Wk; CRATIA – mjpfhuk; vdg; nghUSila 

fpNuf;f thh;j;ijfspypUe;J kf;fshl;rp vDk; nrhy;yhdJ 
Njh;e;njLf;fg;gl;lJ.  

II. kf;fshl;rpapy; murpd; jiytuhdth; Njh;e;njLf;fg;gLfpwhh;. 
III. FbauR vDk; nrhy;yhdJ Nuhk; ehl;by; tbtikf;fg;gl;lJ. "Res 

Publica" vDk; yj;jPd; nkhopr; nrhy;ypd; nghUshdJ nghJ tptfhuk; 
vd;gjhFk;.  
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IV. FbauR vd;gJ kf;fsplk; caujpfhuKs;s mikg;ghFk; ,q;F kf;fs; 
KbntLf;Fk; mjpfhuj;jpid nray;gLj;Jfpd;wdh;.  

a. I kw;Wk; II kl;Lk;   b. II kw;Wk; IV kl;Lk;  
c I kw;Wk; III kl;Lk;  d. III kw;Wk; IV kl;Lk;  

 
9. Consider the following statements  

Assertion (A): India has indirect democracy. 
Reason (R): People exercise decision making power indirectly through 
elected representatives. 
a. (A) alone is correct (R) is incorrect. 
b. (A) and (R) are correct and (R) is correct explanation of (A) 
c. (A) and (R) are incorrect 
d. (A) and (R) are correct and (R) is not correct explanation of (A) 
gpd;tUk; $w;Wfisf; fUJf.  
$w;W (A) : ,e;jpahtpy; kiwKf kf;fshl;rp epyTfpwJ 
fhuzk; (R): kf;fs; jq;fs; mjpfhuj;ij kiwKfkhf Njh;e;njLf;fg;gl;l  
   gpujpepjpfs; %yk; nray;gLj;Jfpd;wdh;.  
a. (A) kl;Lk; rhp> (R) jtW  
b. (A) kw;Wk; (R) rhp> (R) vd;gJ (A)d; rhpahd tpsf;fkhFk;  
c. (A) kw;Wk; (R) jtW  
d. (A) kw;Wk; (R) rhp kw;Wk; (R) vd;gJ (A)d; rhpahd tpsf;fky;y  

 
10. The parliament house in India was designed by 

a. Le Corbusier and Albert Mayer 
b. Edwin Lutyens and Herbert Baker 
c. Matthew Nowicki and Thomas Munro 
d. Ludwig Mies and Frank Wright. 
,e;jpa ghuhSkd;w mitahdJ ahuhy; tbtikf;fg;gl;lJ.  
a. yP fhh;g~pah; kw;Wk; My;gpul; Nkah;  
b. vl;tpd; Yl;bad;]; kw;Wk; n`h;gh;l; Ngf;fh;  
c. khj;A+t; Nehtpf; kw;Wk; jhk]; kd;Nwh  
d. Yl;tpf; kP]; kw;Wk; gpuhq;f; iul;  

 
 
 
 
11. Consider the following statements and choose correct options. 

I. Members of Loksabha are indirectly elected. 
II. Members of Rajyasabha are elected by Electoral College consisting 

elected members of legislative assemblies of states. 
a. I only is correct  b. II only 
c. Both I and II   d. None of the above 
gpd;tUk; $w;Wfspy; rhpahdijj; Njh;e;njL: 
1. kf;fsit cWg;gpdh;fs; kiwKfkhfj; Njh;e;njLf;fg; gLfpd;wdh;.  
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2. khepy rl;lkd;wq;fspd; Njh;e;njLf;fg;gl;l cWg;gpdh;fs; mlq;fpa 
Njh;Tf; Fohk; %yk; uh[;a rig cWg;gpdh;fs; Njh;e;njLf;fg;gLfpd;wdh;.  

a. I kl;Lk; rhp    b. II kl;Lk;  
c. I kw;Wk; II ,uz;Lk;  d. vJTkpy;iy 

 
12. Kudavolai system was followed by 

a. Cheras  b. Cholas  c. Pandyas   d. Pallavas 
FlNthiy KiwahdJ _______ My; gpd;gw;wg;gl;lJ 
a. Nruh;fs;  b. Nrhoh;fs; c. ghz;bah;fs;   d. gy;yth;fs;  

 
13. In democracy final authority rests with 

a. Parliament    b. People 
c. Council of ministers   d. President 
kf;fshl;rpapy; ,Wjp mjpfhukhdJ ________ ,lk; cs;sJ  
a. ghuhSkd;wk;    b. kf;fs;  
c. mikr;rh;fspd; mit   d. [dhjpgjp  

 
14. Consider the following 

Assertion (A) : India has Parliamentary form of democracy. 
Reason (R) : Indian Parliament comprise two houses. 
a. Both (A) and (R) are true and (R) explains (A) 
b. Both (A) and (R) are true and (R) does not explain (A) 
c. (A) is true (R) is false 
d. (A) is false and (R) is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A) : ,e;jpahtpy; ghuhSkd;w kf;fshl;rp KiwahdJ epyTfpwJ.  
fhuzk; (R): ,e;jpa ghuhSkd;wkhdJ ,U mitfisf; nfhz;Ls;sJ.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) –d; tpsf;fkhFk;  
b. (A) kw;Wk; (R) rhpahdit NkYk; (R) vd;gJ (A)d; tpsf;fky;y  
c. (A) rhp (R) jtW  
d. (A) jtW kw;Wk; (R) rhpahdJ  

 
 
 
 
15. Consider the following statements. 

1. Meaning of Franchise denotes right to elect. 
2. Universal adult franchise creates legal equality. 
Choose wrong statements. 
a. One only     b. Two only 
c. Both One and Two   d. None of the above 
gpd;tUk; $w;Wfisf; fUJf.  
1. thf;Fhpik vd;gJ Njh;T nra;ag;gLk; chpikiaf; Fwpf;fpwJ.  
2. taJ te;Njhh; thf;Fhpik rl;l rkj;Jtj;ij cUthf;FfpwJ  
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jtwhd $w;Wfisj; Njh;f.  
a. 1 kl;Lk;     b. 2 kl;Lk;  
c. 1 kw;Wk; 2 ,uz;L   d. vJTkpy;iy  
 

16. The President of India can nominate. 
1. Two Anglo Indian to Lok Sabha. 
2. Twelve Anglo Indians to Lok Sabha. 
3. Twelve Anglo Indians to Rajyasabha. 
4. Twelve members to Rajyasabha. 
Choose correct statements. 
a. One only    b. Three and Four only 
c. One and Two only  d. One and Four only 
,e;jpa [dhjpgjpahy; epakpf;fg;gLtJ _________. 
1. kf;fsitf;F 2 Mq;fpNyh ,e;jpah;fs;  
2. kf;fsitf;F 12 Mq;fpNyh ,e;jpah;fs;  
3. uh[;a rigf;F 12 Mq;fpNyh ,e;jpah;fs;  
4. uh[;a rigf;F 12 cWg;gpdh;fs;  
a. 1 kl;Lk;    b. 3 kw;Wk; 4 kl;Lk; 
c. 1 kw;Wk; 2 kl;Lk;   d. 1 kw;Wk; 4 kl;Lk;  

 
17. _______ is one of five basic principles of democracy in India. 

a. Communism  b. Communalism  
c. Secularism  d. Illiteracy 
,e;jpa Idehafj;jpd; 5 mbg;gilf; nfhs;iffspy; xd;W _______. 
a. nghJTilik  b. tFg;Gthjk; 
c. kjr;rhh;gpd;ik  d. vOj;jwptpd;ik  

 
18. Electoral college of President consists of 

I. elected members of both houses of Parliament 
II. elected members of state legislative assemblies and union territories. 
III. nominated members of both houses of Parliament. 
IV. Nominated members of state legislative assemblies and union 

territories. 
a. I and III only  b. I and II only c. I, II, III only d. All the above 
 
FbauRj; jiytiuj; Njh;T nra;Ak; thf;fhsh; FOthdJ  
I. ghuhSkd;w ,U mitapd; Njh;T nra;ag;gl;l cWg;gpdh;fs;  
II. khepy rl;lkd;wk; (k) A+dpad; gpuNjrq;fspd; Njh;T nra;ag;gl;l 

cWg;gpdh;fs;  
III. ghuhSkd;w ,U mitapd; epakd cWg;gpdh;fs;  
IV. khepy rl;lkd;wk; (k) A+dpad; gpuNjrq;fspd; epakd cWg;gpdh;fs;  
a. I kw;Wk; III kl;Lk; b. I kw;Wk; II kl;Lk;  
c. I, II, III kl;Lk;  d. midj;Jk;  
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19. Consider the following statements  
Assertion (A) : Pressure groups originated in USA and are different from 
Political Parties. 
Reason (R) : They do not try to capture political power or contest election. 
a. Both (A) and (R) are true and R is correct explanation 
b. Both (A) and (R) are true and R is not correct explanation 
c. A is true, R is false. 
d. A is false, R is true. 
gpd;tUk; $w;Wfisf; fUJf. 
$w;W (A): murpay; fl;rpfspypUe;J mOj;jf; FOf;fs; (mnkhpf;fhtpy;  
    Njhd;wpait) NtWgLfpd;wd.  
fhuzk; (R): mitfs; murpay; mjpfhuj;ijf; ifg;gw;wNth (m) Njh;jypy; 
Nghl;baplNth Kidtjpy;iy.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ rhpahd tpsf;fkhFk;  
b. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ rhpahd tpsf;fky;y  
c. (A) rhp (R) jtwhdJ 
d. (A) jtW> (R) rhpahdJ  

 
20. Election Commission is a  

I. Independent Body   II. Permanent Body 
III. Statutory Body  IV. Constitutional Body 
Choose correct statement 
a. I only b. I and II only c. I, II and III only d. I, II and IV only 
Njh;jy; MizakhdJ xU ________ 
I. Rje;jpu mikg;ghFk;  II. epiyahd mikg;ghFk;  
III. rl;lG+h;t mikg;ghFk;  IV. murpayikg;gpd; gbahd mikg;ghFk;  
a. I kl;Lk;    b. I kw;Wk; II kl;Lk;  
c. I, II kw;Wk; III kl;Lk;  d. I, II kw;Wk; IV kl;Lk;  

 
21. Which is not function of political party? 

a. Parties conduct election. 
b. Parties put forward policies 
c. Parties contest election 
d. Parties shape public opinion 
 
murpay; fl;rpapd; gzpay;yhjJ vJ? 
a. fl;rpfs; Njh;jiy elj;Jfpd;wd.  
b. fl;rpfs; nfhs;iffis Kd;itf;fpd;wd.  
c. fl;rpfs; Njh;jypy; Nghl;bapLfpd;wd.  
d. fl;rpfs; nghJf; fUj;jpid tbtikf;fpd;wd.  

 
22. State parties are also known as 

a. Indian parties   b. Provincial Parties 
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c. Regional Parties  d. National Parties 
khepyf; fl;rpfs; ________ vd;Wk; mwpag;gLfpd;wd.  
a. ,e;jpa fl;rpfs;  b. khfhz fl;rpfs;  
c. gpuhe;jpa fl;rpfs;   d. Njrpa fl;rpfs;  

 
23. What are merits of direct elections. 

a. It is less expensive 
b. It is more suited to larger countries. 
c. It ensures lower violence and corruption. 
d. It makes representative more accountable to people. 
Neubj; Njh;jy;fspd; rpwg;Gfs; ahit?  
a. ,it Fiwe;j nryTilait  
b. kpfg;nghpa ehLfSf;F kpfTk; Vw;Gilait  
c. Fiwe;j mstpyhd td;Kiwfs; kw;Wk; Coy;fs;  
d. kf;fSf;F mjpf nghWg;Gilik tha;e;j gpujpepjpfis toq;Ffpd;wd 

(m) kf;fSf;F kpfTk; rhpahd mstpyhd gpujpepjpfis toq;Ffpd;wd.  
 
24. Which of the following is not one of three components of political party? 

a. Leader  b. Active Member 
c. Follower  d. Electoral Funding 
gpd;tUdtw;Ws; murpay; fl;rpapd; 3 $WfSs; xd;W my;yhjJ vJ?  
a. jiyth;  b. nray; cWg;gpdh;  
c. njhz;lh;  d. Njh;jy; epjp tifik  

 
25. Match the following 

A. Britain   1. Parliament 
B. Germany  2. Knesset 
C. Israel   3. Diet 
D. Japan   4. Bundes tag 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 2 3 
d. 1 4 3 2 
nghUj;Jf 
A. gphpl;ld;   1. ghh;ypnkd;l; 
B. n[h;kdp   2. nfnd]l; 
C. ,];Nuy;   3. lal; 
D. [g;ghd;   4. ge;nj];lhf; 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 2 3 
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d. 1 4 3 2 
 

26. Consider the following statements 
I. The term ‘republic’ was first coined in 500 BCE in Rome 
II. It is derived from a Latin word ‘res publica’ 
Choose the correct statements 

 a. I only  b. II only  c. Both I and II d. None of these  
 rhpahd $w;Wfis Njh;T nra;f 

I. ngh.M.K.500Mk; Mz;L Nuhk; ehl;by; Kjd; Kjypy; ‘FbauR’ 
(Republic) vDk; nrhy; tbtikf;fg;gl;lJ 

II. ,r;nrhy; ‘res publica’ vDk; yj;jPd; nkhopr; nrhy;ypypUe;J 
ngwg;gl;lJ. 

a. I kl;Lk;    b. II kl;Lk;  
c. I kw;Wk; II ,uz;Lk;  d. vJTkpy;iy 

 
27. Which of the following is not a federal feature of the Indian Constitution? 

a. Single Constitution   b. Written Constitution 
c. Independent judiciary  d. Bicameralism 
gpd;tUtdtw;Ws; vJ ,e;jpa murpayikg;gpd; $l;lhl;rp Kiw mk;rk; 
my;y? 
a. xw;iw murpayikg;G  b. vOjg;gl;l murpayikg;G 
c. Rje;jpukhd ePjpj;Jiw  d. ,uz;L mit Ml;rp 
 

28. Unitary form of government is in 
a. U.S.A     b. Canada  c. Brazil d. England 
ve;j ehl;by; xw;ia Ml;rp Kiw muR cs;sJ? 
a. If;fpa mnkhpf;f ehLfs;  b. fdlh c. gpNurpy; d. ,q;fpyhe;J 
 

29. Which of the following is not type of urban local body? 
a. Town panchayat  b. zila parishad 
c. municipality   d. corporation 
gpd;tUdtw;Ws; efu cs;shl;rp mikg;gpd; tifay;yhjJ vJ? 
a. efu gQ;rhaj;J   b. [py;yh ghp~j;  
c. efuhl;rp     d. khefuhl;rp  

 
30. Which of following is not a characteristic feature of parliamentary form of 

government? 
a. Harmony Between Legislature and Executive 
b. Responsible Government 
c. Stable Government 
d. Majority Party Rule 
gpd;tUtd;tw;Ws; ghuhSkd;w Kiw murhq;fj;jpd; mk;rky;yhjJ vJ?  
a. rl;lj;Jiw kw;Wk; nrayhf;fj; Jiw ,ilNaahd ,zf;fepiy  
b. nghWg;ghd murhq;fk;  
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c. epiyahd murhq;fk;  
d. ngUk;ghd;ik fl;rpapd; Ml;rp  

 
31. Choose the incorrect pair 

1. Primary Consumers – Zebra 
2. Secondary consumers – crocodile  
3. Tertiary consumers – owl 
4. Autotrophs – Bacteria  
a. 1, 2  b. 3, 4  c. 2 only  d. 4 only 

 jtwhd ,iziaf; fhz;f 
1. Kjy;epiy Efh;Nthh; - thpf;Fjpiu 
2. ,uz;lhk;epiy Efh;Nthh; - Kjiy 
3. %d;whk;epiy Efh;Nthh; - Me;ij 
4. jw;rhh;G Cl;lcaphp – ghf;Bhpah 
a. 1, 2  b. 3, 4  c. 2 kl;Lk;  d. 4 kl;Lk; 

 
32. An ecological region that has lost more than ________ of its original habitat 

is considered a ________ 
a. 70%, hotspot   b. 70%, Biosphere reserve 
c. 60%, hotspot   d. 60%, Biosphere reserve 
xU #oypay; gpuNjrj;jpy; ________ Nkyhf Xhpdk; Rakhd tho;tplj;ij 
,oe;JtpLNkahdhy; mt;tplk; (ftdj;jpy; nfhs;sg;glNtz;ba) ________ 
Mf fUjg;gLfpwJ. 
a. 70%, tsikaq;fshf (Hotspot) b. 70%, caph;f;Nfhs fhg;gfk; 
c. 60%, tsikaq;fshf (Hotspot)  d. 60%, caph;f;Nfhs fhg;gfk; 
 

33. Tropical Savanna biomes are found between _______ latitudes. 
a. 10° to 20° E and W  b. 10° to 20° N and S 
c. 20° to 30° N and S  d. 20° to 30° E and W 
 
ntg;g kz;ly rthdh gy;Yaph;j; njhFjp _______ ml;rq;fSf;F ,ilNa 
fhzg;gLfpwJ. 
a. 10° to 20° fpof;F kw;Wk; Nkw;F b. 10° to 20° tl kw;Wk; njd; 
c. 20° to 30° tl kw;Wk; njd;  d. 20° to 30° fpof;F kw;Wk; Nkw;F 
 

34. Which of the following statements is /are correct about desert biomes? 
1. Found on the western margins of the continents between 20° and 30° N 

and S latitudes. 
2. The annual rainfall is less than 50 cm in these regions. 
3. These regions do not possess any vegetation but have special vegetation 

type called Xerophytes. 
a. 1, 2   b. 1, 3   c. 2 only  d. All of these 

 ghiytd gy;Yaph;j; njhFjp gw;wpa rhpahd $w;W / $w;Wfis fz;lwpf 
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1. ,g;gy;Yaph;j;njhFjp 20° Kjy; 30° tl> njd; ml;rq;fSf;fpilNa 
fhzg;gLfpd;wd. 

2. ,q;F Mz;L ruhrhp kiog;nghopT 50 nr.kPf;Fk; Fiwthf 
fhzg;gLfpwJ. 

3. ,q;Fj; jhtuq;fs; mhpjhf tsh;fpd;wd. ,Ug;gpDk; ,q;Ff; fhzg;gLk; 
jdpj;Jtk; tha;e;j jhtuq;fs; ghiytdj;jhtuq;fs; vdg;gLfpd;wd. 

a. 1> 2  b. 1> 3  c. 2 kl;Lk;  d. ,it midj;Jk; 
 

35. Match the following 
A. Prairies    1. Eurasia  
B. Steppes    2. South Africa  
C. Pampas    3. New Zealand  
D. Veld    4. North America  
E. Centerburg  5. Argentina and Uruguay  
 A B C D E 
a. 4 1 5 3 2 
b. 1 2 3 4 5 
c. 5 3 4 1 2 
d. 4 1 5 2 3 
nghUj;Jf 
A. g;nua;hp   1. ANu~pah 
B. ];nlg;gp   2. njd;dhg;gphpf;fh 
C. ghk;gh];   3. epa+rpyhe;J 
D. nty;l;   4. tl mnkhpf;fh 
E. Nfd;lh;gh;f;  5. mh;n[z;bdh kw;Wk; cUFNt 
 A B C D E 
a. 4 1 5 3 2 
b. 1 2 3 4 5 
c. 5 3 4 1 2 
d. 4 1 5 2 3 
 
 

36. Consider the following 
Assertion (A): Heterotrophs do not produce their own food.  
Reason (R): They depend on autotrophs for their nourishment 
a. Both assertion (A) and reason(R) are true; R explains A  
b. Both assertion(A) and reason(R) are true; R does not explain A  
c. A is true; R is false  
d. Both A and R are false 
gpd;tUtdtw;iw Ma;f 
$w;W (A): gpwr;rhh;G Cl;l caphpfs; jq;fs; czit jhq;fNs jahhpj;Jf; 
nfhs;shJ 
fhuzk; (R): Cl;lr;rj;jpw;fhf ,it cw;gj;jpahsh;fisr; rhh;e;J ,Uf;Fk; 
a. $w;W kw;Wk; fhuzk; ,uz;Lk; rhp> fhuzk; $w;iw tpsf;FfpwJ 
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b. $w;W kw;Wk; fhuzk; ,uz;Lk; rhp> fhuzk; $w;iw tpsf;ftpy;iy 
c. $w;W rhp> fhuzk; jtW 
d. $w;W kw;Wk; fhuzk; ,uz;Lk; jtW 

 
37. Match the following 

A. World Wild Life Day   1. March 3 
B. International Day of Forest 2. March 21 
C. World Water Day   3. March 22 
D. Earth Day    4. April 22 
E. World Environment Day   5. June 5 
 A B C D E 
a. 1 3 4 5 2 
b. 1 2 3 4 5 
c. 5 4 3 2 1 
d. 4 3 2 1 5 
nghUj;Jf 
A. cyf tdtpyq;F jpdk;  1. khh;r; 3 
B. rh;tNjr fhLfs; jpdk;  2. khh;r; 21 
C. cyf ePh; jpdk;   3. khh;r; 22 
D. g+kp jpdk;    4. Vg;uy; 22 
E. cyf Rw;Wr;#oy; jpdk;  5. [{d; 5 
 A B C D E 
a. 1 3 4 5 2 
b. 1 2 3 4 5 
c. 5 4 3 2 1 
d. 4 3 2 1 5 
 

38. __________ is a system of interlocking and inderdependent food chains. 
a. Food chain  b. Food web 
c. Trophic level  d. Ecosystem 
czTr; rq;fpypfs; xd;wpidnahd;W rhh;e;J> gpizf;fg;gl;l mikg;G 
__________ vdg;gLfpwJ 
a. czT rq;fyp  b. czT tiy 
c. Mw;wy; kl;lk;  d. Rw;Wr;#oy; mikg;G 
 

39. United Nations Conference on Environment and Development (UNCED) 
was held in _________ in 1992. 
a. Rio de Janeiro  b. Paris c. Geneva   d. Stockholm  
If;fpa ehLfspd; Rw;Wr;#oy; kw;Wk; tsh;r;rp khehL _______ ,y; 1992Mk; 
Mz;L eilngw;wJ. 
a. hpNah b n[dpNuh b. ghhp]; c. n[dpth   d. ];lhf;N`hk; 
 

40. Choose the correct statements 
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1. Different countries of the world conduct census every 5 to 10 years as 
recommended by the United Nations. 

2. The first known census was undertaken by the Babylonians in 3800 BC 
(BCE). 

3. In India, the first census was carried out in the year 1872. 
a. 1, 2, 3  b. 2, 3  c. 1, 4  d. None of these 

 rhpahd $w;Wfis Njh;f 
1. If;fpa ehLfs; rigapd; ghpe;Jiuapd;gb cyfpd; gy;NtW ehLfs; 

xt;nthU 5 my;yJ 10 Mz;LfSf;F xUKiw kf;fs;njhif 
fzf;nfLg;ig Nkw;nfhs;fpd;wd. 

2. ghgpNyhdpy; fp.K (ngh.M.K) 3800y; cyfpd; Kjy; kf;fs;njhif 
fzg;nfLg;G ele;jJ.  

3. ,e;jpahtpy; Kjy; kf;fs;njhif fzf;nfLg;G fp.gp.1872Mk; Mz;L 
ele;jJ. 

a. 1, 2, 3  b. 2, 3  c. 1, 4  d. ,it VJkpy;iy 
 

41. Which was the first country in the modern world to conduct a census? 
a. Sweden  b. France  c. Denmark d. Austria 
etPd cyfpy; kf;fs;njhif fzf;nfLg;ig Kjy; Kjypy; elj;jpa ehL 
vJ? 
a. RtPld;  b. gpuhd;];  c. nld;khh;f; d. M];l;hpah 

 

42. The dominant explanation for black death is attributed to the outbreak of 
_____. 
a. Polio  b. Chickenpox   c. Malaria  d. Plague 
gpd;tUk; ve;j Neha; fWg;Gr; rhT miof;fg;gLfpwJ? 
a. NghypNah b. jl;lk;ik  c. kNyhpah  d. gpNsf; 
 

43. Choose the correct statement 
1. The World Population Day is observed on 11th July every year.  
2. The United Nations Development Programme started celebrating this 

event from the year 1991. 
a. 1 only  b. 2 only  c. both 1 and 2  d. None of these 

  

rhpahd $w;iw fz;lwpf 
1. cyf kf;fs;njhif jpdk; Mz;LNjhWk; [{iy 11Mk; Njjp 

mDrhpf;fg;gLfpwJ 
2. If;fpa ehLfspd; tsh;r;rp jpl;l mikg;G ,ij 1991Mk; Mz;L Kjy; 

nfhz;lhb tUfpwJ. 

a. 1 kl;Lk;  b. 2 kl;Lk;   c. 1 kw;Wk; 2 ,uz;Lk;  d. ,it 
VJkpy;iy 
 

44. Density of population refers to 
a. Population Density = Total Population / Total land area 
b. Population Density = Total land area / Total Population 
c. Population Density = Total population x Total land area 
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d. Population Density = Total land area x Total population 
kf;fs; mlh;j;jp vd;gJ 
a. kf;fs; mlh;j;jp = nkhj;j kf;fs;njhif / nkhj;j epyg;gug;G 
b. kf;fs; mlh;j;jp = nkhj;j epyg;gug;G / nkhj;j kf;fs;njhif 
c. kf;fs; mlh;j;jp = nkhj;j kf;fs;njhif x nkhj;j epyg;gug;G 
d. kf;fs; mlh;j;jp = nkhj;j epyg;gug;G x nkhj;j kf;fs;njhif 
 

45. India has an official population policy implemented in _______ 
a. 1951  b. 1952  c. 1953  d. 1954 
,e;jpa murpd; mjpfhug;g+h;tkhd kf;fs;njhif nfhs;if 
eilKiwg;gLj;jg;gl;l Mz;L _______ 
a. 1951  b. 1952  c. 1953  d. 1954 
 

46. Find out the incorrect pair 
1. Primary activities  - mining 
2. Secondary activities  - automobile manufacturing 
3. Tertiary activities  - banking 
4. Quaternary activities - scientists and policy makers 
5. Quinary activities  - consultation  
a. 1, 2, 5  b. 4, 5 c. 3, 5  d. 1, 3 
jtwhd ,iziaf; fhz;f 
1. Kjy;epiyj; njhopy;fs;  - fdpkq;fis ntl;b vLj;jy; 
2. ,uz;lhk;epiyj; njhopy;fs; - thfd cw;gj;jp njhopw;rhiyfs; 
3. %d;whk;epiyj; njhopy;fs;  - tq;fpfs; 
4. ehd;fhk;epiyj; njhopy;fs;  - mwptpay; mwpQh;fs; kw;Wk; 

murhq;fj;jpd;  
nfhs;iffspy; KbT vLg;gth;fs; 

5. Ie;jhk;epiyj; njhopy;fs;  - MNyhrid toq;Fjy; 
a. 1, 2, 5  b. 4, 5 c. 3, 5  d. 1, 3 
 

47. Choose the correct statements 
1. Japan is in a very active seismic area and it has the densest seismic 

network in the world.  
2. Indonesia is in a very active seismic zone 
a. 1 only  b. 2 only  c. both 1 and 2 d. none of these 
rhpahd $w;Wfis fz;lwpf 
1. [g;ghd; KOtJk; epyeLf;f gFjpapy; mike;Js;sJ. ,J cyfpNyNa 

kpf mjpf mlh;j;jpahd epyeLf;f gFjpfisf; nfhz;Ls;sJ. 
2. ,e;NjhNdrpah mjpf epyeLf;fg; gFjpfisf; nfhz;Ls;sJ 
a. 1 kl;Lk;  b. 2 kl;Lk;  c. 1 kw;Wk; 2  d. ,it VJkpy;iy 
   

48. Which of the following statement has the Risk Reduction measures for 
cyclone? 
I. Ignore rumors, stay calm don’t be panic. 
II. Keep your documents and valuables in water proof containers. 
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III. Prepare an emergency kit’s with essential items for survival  
IV. Switch on all the electrical appliance 
a. I, II and III are correct b. I and II are correct  c. III and IV are correct  
d. IV only correct   e. Answer not known 
nfhLf;fg;gl;Ls;s ve;j thf;fpak; Gaypd; NghJ gpd;gw;w Ntz;ba mgha 
Njh;T Fiwg;G eltbf;iffs; 
I. Njitaw;w tje;jpfisAk;> gjw;wj;ijAk; jtph;j;jy; mikjpfhf;fTk; 
II. Kf;fpakhd Mtzq;fisAk; kw;Wk; clikfisAk; jz;zPh; Gfhj 

ngl;lfj;jpy; gj;jpukhf itf;fTk; 
III. caph; tho mtru cjtp ngl;lfj;ij jahh;epiyapy; itj;jpUf;fTk; 
IV. midj;J kpd;rhu rhjdq;fspd; kpd;,izg;igAk; Jz;bf;f Ntz;lhk;. 
a. I, II kw;Wk; III rhpahdit   b. I kw;Wk; II rhpahdit 
c. III kw;Wk; IV rhpahdit   d. IV kl;Lk; rhpahdJ 
e. tpil njhpatpy;iy 

 
49. When you happen to see a fire break out, you will make a call to  

a. 114   b. 112   c. 115   d. 118 
 jPtpgj;J Vw;gLk;NghJ ePq;fs; miof;fNtz;ba vz; 

a. 114   b. 112   c. 115   d. 118 
 
50. Choose the correct statements 

1. A tsunami is a series of enormous ocean waves caused by earthquakes, 
underwater landslides, volcanic eruptions or asteroids. 

2. Tsunamis can travel 700-800 km per hour, with waves 20-30 meter high. 
a. 1 only  b. 2 only  c. both 1 and 2  d. none of these 
rhpahd $w;Wfis Njh;f 
1. epyeLf;fk;> flYf;F mbapy; Vw;gLk; epyr;rhpT> vhpkiy ntbg;G kw;Wk; 

FWq;Nfhs;fs; Nghd;wtw;why; Vw;gLk; njhlh; ngUq;fly;fspd; miyfNs 
Mopg; NguiyfshFk;. 

2. Mypg;NguiyahdJ 20-30 kPl;lh; cauj;jpy; kzpf;F Rkhh; 700 – 800 
fpNyhkPl;lh; Ntfj;jpy; nry;yf;$baJ 

a. 1 kl;Lk;  b. 2 kl;Lk;  c. 1 kw;Wk; 2 d. ,it VJkpy;iy 
 


